Monday 22nd June 2020
1. [image: ]3873 – 1745 =
2. 8923 + 991 =
3. 4421 + 832 = 
4. 783 – 662 =
5. 5427 + 3658 =
6. 9002 – 7772 =
7. 8000 – 3672 =
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Mr Wallis has 67 pies. 
At the weekend he is having a party so he buys a further 5632 pies. 
At the weekend his friends eat 2851 of the pies. 
How many does he have left?
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Subtract Two 4-Digit Numbers 1 Subtract Two 4-Digit Numbers 1

7a. Henry has subtracted 4,140 from 7b. Xin has subfracted 2,342 from 6,843.
5,175. His answer is shown below. His answer is shown below.

1,230 4,541

Is he correct? Explain why. Is she correct? Explain why.

¢ iz

8a. Complete the calculation below. 8b. Complete the calculation below.
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1,235 people go on a school trip.

There are 1,179 children and 27 teachers.
The rest are parents.

How many parents are there?

Explain your method to a friend.




image3.png
@ Vear & Add Two 4-Digit Number X | 4 = &

< C @ free-secret-resources.s3-eu-west-1.amazonaws.com/Year-4-Add-Two-4-Digit-Numbers-3-Worksheet.pdf * @

Apps (D HP Comnected

Year 4 Add Two 4-Digit Numbers Worksheet

2. True or false? C totals the largest number. Complete each calculation to check.
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2,360 4,857

3. Arthur has filled in the boxes in the calculation to fotal the answer below.

3 4
3 8
6 2

Is he correct? Prove it.
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